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¥ 18 S1
Method %656? ¢ fi_fﬁ Ty (n) HEZ FE Gk
¥ =% (Median) (Mean) (SD) (CV)
02 11 134 133 (11) 12.8 9.6%
04 11 157 160 (11) 22.1 13.8%
All 22 141 147 (22) 225 15.3%
* Qutlier(s) not included.
%18 S2
Method 1%‘5@ ¢ fi_fi Ty (n) &L %E Gk
H i~#c  (Median) (Mean) (SD) (CV)
02 11 255 267 (11) 36.7 13.7%
04 11 363 374 (11) 49.3 13.2%
All 22 319 320 (22) 69.0 21.6%
* Qutlier(s) notincluded.
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Method fﬁ%? (A B2E ) HREL %P G
H =% (Median) (Mean) (SD) (CV)
02 1 72 74 (11) 9.0 12.2%
04 1 84 89(11) 160  18.0%
All 22 76 79(21) 125  15.8%

* Qutlier(s) not included.
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